parameter(nil=121,nj1=81,ni2=3,nj2=161,ni3=3,nj3=41,
/ ni4=3,nj4=41,ni5=3,nj5=41,ni6=21,nj6=21,b6=1)

parameter(nill=nil-1,nj11=nj1-1,ni21=ni2-1,nj21=nj2-1,ni31=ni3-1,
/ nj31=nj3-1,ni41=ni4-1,nj41=nj4-1,ni51=ni5-1,nj51=nj5-1,
/ ni61=ni6-1,nj61=nj6-1)

parameter(nn=100000)

parameter(ntl=nil*nj1,nt2=ni2*nj2,nt3=ni3*n;j3,
/ nt4=ni4*nj4,nt5=ni5*n;j5,nt6=ni6*nj6)

parameter(nt=nt1+nt2+nt3+nt4+nt5+nt6,nt26=nt-nt1)

c select large one between ntl and nt26

parameter(N1=nil/2*nj1,N2=(nil-nil/2)*nj1)

parameter(N3=nt2+nt3+nt4+nt5,N4=nt6)

parameter(nn1=nt1/6,nn2=nn1,nn3=nnl,nn4=nnl,nn5=nn1,nn6=ntl-nn1*5,
& nn7=nt2+nt3+nt4+nt5,nn8=nt6)

integer noo(nn),kii(nn),kjj(nn),kkk(nn),kno(nn)

real x(nt),y(nt),z(nt)

open(unit=20,file='node_element.dat’)

201  format(3i5,i10,i5)

c========surface 1  free surface==========
C-m-mmmmmmm i corner(1,2,4)
k=1
write(20,201) 1,1,1,k,1
write(20,201) 0,0,0,k,2
write(20,201) 0,0,0,k,3

write(20,201) 0,0,0,k,4



--------------- boundary (1,2)--------=--=-====-==-mmmmmm-
do kk=2,nj11
k=kk
write(20,201) 1,1, kk k.1
write(20,201) 1,1,kk-1,k,2
write(20,201) 0,0,0 k3
write(20,201) 0,0,0 k4
end do
-------------------- corner(1,2,3)  --------mmmmmimmoses
k=nj1
write(20,201) 0,0,0 k1
write(20,201) 1,1,nj11,k,2
write(20,201) 0,0,0 ' k3
write(20,201) 0,0,0 k4
--------------- boundary (4,1) , surface 1, boundary(1,3) ---------
do ki=2,ni1l
k=1+nj1*(ki-1)
write(20,201) 1,ki ,1,k,1
write(20,201) 0,0 ,0,k,2
write(20,201) 0,0 ,0,k,3
write(20,201) 1,ki-1,1,k,4
do kj=2,nj11
k=kj+nj1*(ki-1)
write(20,201) L,ki'  kj k.1
write(20,201) 1,ki = ,kj-1,k,2
write(20,201) 1,ki-1,kj-1,k,3
write(20,201) 1,ki-1,kj k.4
end do
k=ki*nj1
write(20,201) 0,0 0 k1
write(20,201) 1.ki  ,nj11 k,2
write(20,201) 1,ki-1,nj11,k,3
write(20,201) 0,0~ ,0 k.4
end do

k=1+nj1*nill
write(20,201) 0,0, 0,k,1
write(20,201) 0,0, 0,k,2



write(20,201) 0,0, 0k,3
write(20,201) 1,nil11,1,k,4

--------------- boundary (1,5) ------------=-m-m-mmmmeem
do kj=2,nj11
k=Kj+nj1*nill
write(20,201) 0,0,0 k1
write(20,201) 0,0,0 K,2

write(20;201) 1,ni11,kj-1,k;3
write(20,201) 1,ni1l,kj k4
end do

---------------------- corner(1,3,5) ---------------
k=nj1*nil
write(20,201) 0,0,0 k1
write(20,201) 0,0 0 k2
write(20,201) 1,nil11,nj11,k,3
write(20,201) 0,0,0 k.4
=========surface 2 wave paddle==============
-------------------- corner(1,2,4)
k=1+ntl
write(20,201) 0,0,0,k,1
write(20,201) 0,0,0,k,2
write(20,201) 0,0,0,k,3
write(20,201) 2,1,1 k;4
--------------- boundary (1,2)--=---------=---=--=-mmmmem-
dokk=2,nj21
k=kk+ntl
write(20,201) 0,00 k1
write(20,201) 0,00 k2
write(20,201).2,1,kk-1,k;3
write(20,201) 2,1,kk k.4
end do
-------------------- corner(1,2,3)  ------m-mmemmmmmoeee-
k=nj2+ntl
write(20,201) 0,0,0 k1
write(20,201) 0,0,0 k.2
write(20,201) 2,1,nj21,k,3



write(20,201) 0,0,0 k.4
--------------- boundary (4,2) , surface 2, boundary(2,3) ---------
if(ni2.ge.3) then
do ki=2,ni21
k=1+nj2*(ki-1)+ntl
write(20,201) 2,ki-1,1,k,1
write(20,201) 0,0 - ,0.k,2
write(20,201) 0,0 - ,0,k;3
write(20,201) 2,ki - ,1,k,4
do kj=2,nj21
k=kj+nj2*(ki-1)+ntl
write(20,201) 2,ki-1,kj  ,k,1
write(20,201) 2,ki-1,kj-1,k,2
write(20,201) 2,ki - ,kj-1,k,3
write(20,201) 2.ki ~ kj k4
end do
k=ki*nj2+ntl
write(20,201) 0,0 ,0 k1
write(20,201) 2,ki-1,nj21,k,2
write(20,201) 2,ki ,nj21,k,3
write(20,201) 00 ,0 k4
end do
end if
--------------------- corner(2,5,4) =-=----------=------
k=1+nj2*ni21+ntl
write(20,201) 2,ni21,1,k,1
write(20,201) 0,0 © ,0,k,2
write(20,201) 0,0,0 k.3
write(20,201) 0,0,0 k4
--------------- boundary (5,2) ------=--=s-mmmmmmm e
do kj=2,nj21
k=kj+nj2*ni21+ntl
write(20,201) 2;ni21,kj -k,1
write(20,201) 2,ni21,kj-1,k,2
write(20,201) 0,0 0 k3
write(20,201) 0,0 ,0 k4
end do



k=nj2*ni2+ntl
write(20,201) 0,0 0 k.1
write(20,201) 2,ni21,nj21,k,2
write(20,201) 0,0,0 K,3
write(20,201) 0,0,0 K,4
===== | surface 3 right wall=======z=========c
-------------------- corner(3,1,2)
k=1+nt1+nt2
write(20,201) 0,0,0,k,1
write(20,201) 0,0,0,k,2
write(20,201) 0,0,0,k,3
write(20,201) 3,1,1,k,4
--------------- boundary (3,1)-----------=--=-=--msmmmmeeee
do kk=2,nj31
k=kk+nt1l+nt2
write(20,201) 0,00 k1
write(20,201) 0,0,0 k.2
write(20,201) 3,1,kk-1,k,3
write(20,201) 3,1,kk k4
end do
-------------------- corner(1,5,3) ---------mmmmmmeoeeee-
k=nj3+ntl+nt2
write(20,201) 0,0,0. - k,1
write(20,201) 0,0,0 k2
write(20,201) 3,1,nj31,k,3
write(20,201) 0,0,0. k.4
--------------- boundary (3,2) , surface 3, boundary(5,3) ---------
if(ni3.ge.3) then
do ki=2,ni31
k=1+nj3*(ki-1)+ntl+nt2
write(20,201) 3,ki-1,1,k,1
write(20,201) 0,0 ,0,k,2
write(20,201) 0,0 -~ ,0,k;3
write(20,201) 3 ki ,1k,4
do kj=2,nj31
k=kj+nj3*(ki-1)+ntl+nt2
write(20,201) 3,ki-1,kj ,k,1
write(20,201) 3,ki-1,kj-1,k,2



write(20,201) 3,ki  ,kj-1,k,3
write(20,201) 3,ki  kj k4
end do
k=ki*nj3+nt1+nt2
write(20,201) 0,0 ,0 k1
write(20,201) 3,ki-1,nj31,k,2
write(20,201) 3,ki - ,nj31,k,3
write(20,201) 0,0~ ,0 k4
end do
end if

--------------------- corner(2,5,3) -------------m------
k=1+nj3*ni31+ntl+nt2
write(20,201) 3,ni31,1,k,1
write(20,201) 0,0 - ,0,k,2
write(20,201) 0,0,0  k,3
write(20,201) 0,00 k4

--------------- boundary (5,3) ---------------=--m-mm-o--

do kj=2,nj31

k=kj+nj3*ni31+ntl+nt2
write(20,201) 3,ni31,kj ,k,1
write(20,201) 3,ni31,kj-1,k,2

write(20,201) 0,0,0 K,3
write(20,201) 0,0,0 K4
end do

---------------------- corner(8,6,5) 2==4-----------

k=nj3*ni3+ntl+nt2
write(20,201) 0,0+ ,0 k1
write(20,201) 3,ni31,nj31,k,2
write(20,201)0,0 ,0 k3
write(20,201) 0,0 ,0 k4
========gurface 4 left wall z=================z======

-------------------- corner(4,1,2)
k=1+ntl+nt2+nt3
write(20,201) 0,0,0,k,1
write(20,201) 0,0,0,k,2
write(20,201) 0,0,0,k,3
write(20,201) 4,1,1,k,4



--------------- boundary (4,1)-----------=-====-mmmmmmeem
do kk=2,nj41
k=kk+ntl+nt2+nt3
write(20,201) 0,00 k1
write(20,201) 0,0,0 k.2
write(20,201) 4,1,kk-1,k,3
write(20,201) 4,1,kk k.4
end do
-------------------- corner(1,5,4)  ------m-mmemmimmomee
k=nj4+ntl+nt2+nt3
write(20,201) 0,0,0 k1
write(20,201) 0,0,0 k.2
write(20,201) 4,1,nj41,k,3
write(20,201) 0,0,0 k4
--------------- boundary (4,2) , surface 4, boundary(5,4) ---------
if(ni4.ge.3) then
do ki=2,ni41
k=1+nj4*(ki-1)+ntl+nt2+nt3
write(20,201) 4,ki-1,1,k,1
write(20,201) 0,0 ,0,k,2
write(20,201) 0,0  ,0,k,3
write(20,201) 4 ki ,1k,4
do kj=2,nj41
k=kj+nj4*(ki-1)+ntl+nt2+nt3
write(20,201) 4,ki-1,kj k.1
write(20,201) 4,ki-1,kj-1,k,2
write(20,201) 4,ki  kj-1,k,3
write(20,201) 4,ki- kj k4
end do
k=ki*nj4+ntl+nt2+nt3
write(20,201).0,0. 0 = k1
write(20,201) 4,ki-1,nj41 k,2
write(20,201) 4ki - ;nj4t k,3

write(20,201) 0,0,0 k4
end do
end if
--------------------- corner(2,6,4) ---------=-=-=------

k=1+nj4*ni41l+ntl+nt2+nt3



write(20,201) 4,ni41,1,k,1

write(20,201) 0,0 ,0,k,2

write(20,201) 0,0,0 k3

write(20,201) 0,00 k4

(O e boundary (6,4) ---------------=--=-=ze---
do kj=2,nj41

k=Kkj+nj4*ni41+ntl+nt2+nt3

write(20,201) 4,ni41 kj,k,1

write(20;201) 4,ni41,kj-1,k,2

write(20,201) 0,0,0 K,3
write(20,201) 0,0,0 k.4
end do

---------------------- corner(4,6,5) ---------------

k=nj4*ni4+ntl+nt2+nt3
write(20,201) 0,0 .0 k1
write(20,201) 4,ni41,nj41,k,2
write(20,201) 0,0,0 K,3
write(20,201) 0,0,0 k.4

=========surface 5 back wall = =2

-------------------- corner(4,1,5)
k=1+ntl+nt2+nt3+nt4
write(20,201) 0,0,0,k,1
write(20,201) 0,0,0,k,2
write(20,201) 0,0,0,k;3
write(20,201) 5,1,1,k,4
--------------- boundary (5,1)------+---2--5-------------—-
do kk=2,nj51
k=kk+ntl+nt2+nt3+nt4
write(20,201) 0,00 k1
write(20,201).0,00 k2
write(20,201) 5,1,kk-1,k,3
write(20,201) 5,1,kk: - k4
end do
-------------------- corner(1,5,3) ------m-mm-mmmemoeoe-
k=nj5+ntl+nt2+nt3+nt4
write(20,201) 0,0,0 k1
write(20,201) 0,0,0 k.2



write(20,201) 5,1,nj51,k,3
write(20,201) 0,0,0 k.4
--------------- boundary (5,4) , surface 5, boundary(5,3)  ---------

if(ni5.ge.3) then

do ki=2;ni51
k=1+nj5*(ki-1)+nt1l+nt2+nt3+nt4
write(20,201) 5,ki-1,1,k,1
write(20,201) 0,0,0. k2
write(20,201) 0,0,0 k.3
write(20,201) 5,ki ,1,k,4
do kj=2,nj51

k=kj+nj5*(ki-1)+ntl+nt2+nt3+nt4
write(20,201) 5,ki-1,kj k1
write(20,201) 5,ki-1,kj-1,k,2
write(20,201) 5,ki ~ kj-1,k,3
write(20,201) 5,ki  kj k4
end do
k=ki*nj5+ntl+nt2+nt3+nt4
write(20,201) 0,0 ,0 k1
write(20,201) 5,ki-1,nj51 ,k,2
write(20,201) 5,ki ,nj51 ,k,3

write(20,201) 0,0,0 k4
end do
end if
--------------------- corner(2,5,4) ===-=--------=--m---

k=1+nj5*ni51+ntl+nt2+nt3+nt4
write(20,201) 5,ni51,1,k,1
write(20,201) 0,0. - ,0,k,2
write(20,201) 0,0,0 k3
write(20,201) 0,00 k4
--------------- boundary (6,5) ====--====r----m-m-mmemeo

do kj=2,nj51
k=kj+nj5*ni51+ntl+nt2+nt3+nt4
write(20,201) 5,ni51,kj , k,1
write(20,201) 5,ni51,kj-1,k,2
write(20,201) 0,0,0 K,3
write(20,201) 0,0,0 k.4



---------------------- corner(3,6,5) ---------------
k=nj5*ni5+ntl+nt2+nt3+ntd
write(20,201) 0,0 0 k1
write(20,201) 5,ni51,nj51,k,2

write(20,201) 0,0,0
Write(20,201) 0,0,0
=========syrface 6

Kk,3
1k’4
boftom ======SzFSz===———gs==%=

-------------------- corner(4,2,6)
k=1+ntl+nt2+nt3+nt4+nt5
write(20,201) 6,1,1,k,1
write(20,201) 0,0,0,k,2
write(20,201) 0,0,0,k,3
write(20,201) 0,0,0,k,4
--------------- boundary (6,2)--------=--=-==-=--=-mmmmem-

do kk=2,nj61

k=kk+nt1l+nt2+nt3+nt4+nt5
write(20,201) 6,1,kk k1
write(20,201) 6,1,kk-1,k,2

write(20,201) 0,0,0
write(20,201) 0,0,0
end do

1k!3
1k!4

-------------------- corner(2;3;6) . \-7--------------------
k=nj6+ntl+nt2+nt3+nt4+nt5

write(20,201) 0,0,0

k.1

write(20,201) 6,1,nj61,k,2

write(20,201) 0,0,0
write(20,201) 0,0,0

K,3
1k!4

--------------- boundary (6,4) , surface 6, boundary(6,3) ---------

do ki=2,ni61

k=1+nj6*(ki-1)+ntl+nt2+nt3+nt4+nt5

write(20,201) 6,ki
write(20,201) 0,0,0
write(20,201) 0,0,0

ll lk’l
K,2
k,3

write(20,201) 6,ki-1,1 k4

do kj=2,nj61

k=kj+nj6*(ki-1)+nt1l+nt2+nt3+nt4+nt5



write(20,201) 6,ki  kj k1
write(20,201) 6,ki  ,kj-1,k,2
write(20,201) 6,ki-1,kj-1,k,3
write(20,201) 6,ki-1,kj k.4
end do
k=Ki*nj6+ntl+nt2+nt3+nt4+nt5
write(20,201) 0,0 .0 k1
write(20,201) 6,ki ,nj61 k,2
write(20,201) 6,ki-1,nj61 k,3
write(20,201) 0,0,0 K4
end do

--------------------- corner(6,5/4) --------------------
k=1+nj6*ni61+ntl+nt2+nt3+nt4+nt5
write(20,201) 0,0,0 k1
write(20,201) 0,0 ,0,k,2
write(20,201) 0,0,0 ,k,3
write(20,201) 6,ni61,1,k,4

--------------- boundary (6,5) ---------------=--=--=----

do kj=2,nj61

k=kj+nj6*ni61l+ntl+nt2+nt3+nt4+nt5
write(20,201) 0,0,0 k1
write(20,201) 0,0,0 k.2
write(20,201) 6,ni61,kj-1,k,3
write(20,201) 6,ni61,kj k.4
end do

---------------------- corner(3,6,5) ---------------
k=nj6*ni6+ntl+nt2+nt3+nt4+nt5
write(20,201) 0,0,0 K1
write(20,201)0,0 ,0 k2
write(20,201) 6,ni61,nj61 k,3
write(20,201).0,0,0 k.4

close(20)

open(unit=29,file="node_element.dat’)

open(unit=31,file="element_nl.dat',status="replace’)
open(unit=32,file="element_n2.dat',status="replace’)



open(unit=33,file="element_n3.dat',status="replace’)
open(unit=34,file="element_n4.dat',status="replace’)
open(unit=35,file="element_n5.dat',status="replace’)
open(unit=36,file="element_n6.dat',status="replace’)
open(unit=37,file="element_n7.dat',status="replace’)
open(unit=38,file="element_n8.dat',status="replace’)

doi=1,nn1
do k=1,4

read (29,202) nojk,ki,Kj
write(31,202) nojk,Ki,kj

end do
end do

do i=1,nn2
do k=1,4

read (29,202) nojk,ki,Kj
write(32,202) nojk,ki,kj

end do
end do

doi=1,nn3
do k=1,4

read (29,202) nojk,ki,kKj
write(33,202) nojk,ki,kj

end do
end do

do i=1,nn4
do k=1,4

read (29,202) nojk,ki,Kj



write(34,202) nojk,ki,kj

end do
end do

do i=1,nn5
do k=1,4

read (29,202) nojk,ki,kj
write(35,202) nojk,ki,kj

end do
end do

do i=1,nn6
do k=1,4

read (29,202) nojk,ki,Kj
write(36,202) nojk,ki,kj

end do
end do

doi=1,nn7
do k=14

read (29,202) nojk,ki,Kj
write(37,202) nojk,ki Kj

end do
end do

do i=1,nn8
do k=1,4

read (29,202) nojk,ki,Kj
write(38,202) nojk,ki,kj



end do
end do

202  format(3i5)

CLOSE(29)

CLOSE(31)
CLOSE(32)
CLOSE(33)
CLOSE(34)

CLOSE(35)
CLOSE(36)
CLOSE(37)
CLOSE(38)

write(*,*)
write(*,*) 'n1=",n1,' n2=",n2,' n3=",n3,' n4=",n4
write(*,*)
write(*,111) nn1,nn2,nn3,nn4
write(*,*)
write(*,112) nn5,nn6,nn7,nn8
write(*;*)
write(*,*)
111 format('nnl=.i4,' nn2="i4,' nn3=",i4,' nn4="i4)
112 format('nn5=',i4,' nn6=',i4,' nn7=',i4,' nn8="i4)

nt15=nt1+nt2+nt3+nt4+nts
ntl4=ntl+nt2+nt3+nt4
nt13=ntl+nt2+nt3
ntl2=ntl+nt2

OPEN(UNIT=3,FILE="xyz.dat")
OPEN(UNIT=4,FILE="surface_node.dat")



no=1
do ik=1,nil
do jk=1,nj1
i=jk+nj1*(ik-1)
read(4,3) x(i),y(1),z(i)
write(3,5) x(i),y(i),z(i),no,i,ik,jk
end do
end do
close(4)
no=2
OPEN(UNIT=4,FILE="paddle_node.dat")
do ik=1,ni2
do jk=1,nj2
I=ntl+jk+nj2*(ik-1)
read(4,3) x(i),y(1),z(1)
write(3,5) x(i),y(i),z(i),no,i,ik,jk
end do
end do
close(4)
no=3
OPEN(UNIT=4,FILE="right_node.dat")
do ik=1,ni3
do jk=1,nj3
i=nt12+jk+nj3*(ik-1)
read(4,3) x(i),y(i),z(i)
write(3,5) x(i),y(1),z(i),no,l1,ik,jk
end do
end do
close(4)
no=4
OPEN(UNIT=4,FILE="left _node.dat")
do ik=1,ni4
do jk=1,nj4
i=nt13+jk+nj4*(ik-1)
read(4,3) x(i),y(i),z(i)
write(3,5) x(i),y(i),z(i),no,i,ik,jk
end do
end do



close(4)
no=5
OPEN(UNIT=4,FILE="beach_node.dat")
do ik=1,ni5
do jk=1,nj5
i=nt14+jk+nj5*(ik-1)
read(4,3) x(i),y(i),z(i)
write(3,5)x(1),y(i),z(i),no,i,ik,jk
end do
end do
close(4)
no=6
if(b6.eg.1) OPEN(UNIT=4,FILE="bottom_node.dat")
if(b6.eq0.2) OPEN(UNIT=4,FILE="terrian_node.dat")
do ik=1,ni6
do jk=1,nj6
iI=nt15+jk+nj6*(ik-1)
read(4,3) x(i),y(i),z(i)
write(3,5) x(i),y(i),z(i),no,i,ik,jk
end do
end do
close(4)

close(3)

FORMAT(3F10.4)
format(3f10.4,4i10)

stop
end



